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HIH : 2021411 H6H () ~11H7H (H) S ZHAZBMG AR—Y Ok 85 Ak (25m)

No.28 BB 100m A A FL— SR KLE6 56. 08

IBf K 4 T B FE KK = 50m
1 AR 2l J S Sk =3 1/ 4 57.33 26.30  10#% ( 0.61)
2 sk  BEHL Hhy7SC 2 1/ 3 1:00. 61 27.37  10#% ( 0.68)
3 HEA KN Ly 7SC 3 1/ 5 1:02.07 28.77  9%% ( 0.57)
4 KB IR WEMSC 2 1/ 6 1:06. 01 30.48  8#% ( 0.61)
b A TEE J SSHE+ H2 1/ 1 1:07.52 31.32  7#k ( 0.65)
6 )5 AER A h~r4E F1 1/ 7 1:07.96 30.11 9%k ( 0.69)
7 RIET JER HB7YHeSS 1 1/ 2 1:08. 22 32.64  8#k ( 0.79)
8 JIlEm KA WS C 3 1/ 8 1:08.97 32.93  68% ( 0.56)
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